ASH-111/Geo./CC-5/18

B.A./B.Sc. 3rd Semester (Honours) Examination, 2018 (CBCS)
Subjecet : Geography
Paper : CC-5

(Climatology)
Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.

Candidates are required 1o give their answers in their own words
as far as practicable.

Wl 2CE HACL s g T
AT PSS Ged fire 274 )

Section - A

1. Answer any ren questions from the following: 2x10=20

G G draa Teg we ¢
(1) What is Appleton layer?
wifate wa Fie
(it) What is Chromosphere?
3efqes Je
(1i1)- What is thermal equators?
Sl feeemra= @y
(iv) What do you mean by vertical temperature gradient?
IR THHbE @IS ORI ¢
(v) What is meant by effective solar radiation?
TR G fafeae Sy
(vi) How does the ozone layer protect biosphere?
ST O CRNGHE T A 7
(vii) How does a trough differ from a ridge during monsoon?
G 4gTe Agare ¢ afErE s #ie ey
viii) What is meant by ‘ENSO™? ¥ (| 1y
'ENSO’ 91t i @i 2
Aix) Define thunderstorm.
GG A wie |
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ASH-III/Ge()./CC-S/IS (2)
AX) Correlate Condensation and Hygroscopic nucleii.
TG & G| el sl fefa
yyd) Define Relative Humidity.
Sl ey el fmole |
(xii) What is meant by pressure gradient?
JIYBIA Be FE0e W QA 7
JAxiii) What is doldrum?
*INg<eT 7
ij) What is climap?
IR R
(xv) What is Hekistothermal zone?

GfeAiesn wws G
Section - B

2. Answer any four questions from the following: 5%4=20

@ (I BIAfG AsiE T we ¢

D) Give a brief description of the composition of the atmosphere.

AT TAMETTNEE A<fre A we |

(i) Account for the horizontal distribution of temperature on the Earth’s surface in January.
LR @l AT SleEEE wefie A% A @@
(i) Distinguish between Frontogenesis and Frontolysis.
Az e ¢ T weaa slef e @
() What do you mean by atmospheric stability and instability?
SIRRST 7ozl ¢ wfgmel @@ F caran
(v) Give a reasoned account of the relationship between urbanisation and global warming.
VA € A Saen Al st ez LT 7l |
Vi) Outline the basis of Thornthwaite’s classification of world climate.

ST T efiRreien e egicrcil
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Section - C

3. Answer any two questions from the following: 10x2=20
@ I 56 @sa Tea vie o
»J(a) What is meant by insolation? Mention the causes of differences of insolation in various
parts of the Earth, 2+8=10
Tt <fm w1 Fy AfF 4 a7 oo FrAef eEma w0 |
() Explain the causes and consequences of green house effect. What is 0zone hole?
8+2=10
ferrerSat arsran wmd @ R g @ @ o1Za Fe
(c) Give a generic classification of airmasses.
A7GE A cefetzes o |
(d) Trace the evolution of tropical cyclones from initial depression stage to super cyclonic

stage and associated weather characteristics.

7fe Arrzienr e T g Al fEsel o 2l (A TRYfare Tz oty
FfEIeE <l we |
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THE UNIVERSITY OF BURDWAN
B.A/B.Sc. 3RD SEMESTER (HONOURS) EXAMINATION, 2020 (CBCYS)
SUBJECT: GEOGRAPHY
CORE COURSE (CC5): CLIMATOLOGY

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable

1. Answer any six questions from the following: 6x5=30
(I QMG AT B@ W8 |
a) What are the different forms of Scattering?
52T 9 A~ @ FF 2
b) “Ozis heavier than O, but it is found above the Troposphere”- explain.

“O3 ST O, I (ATH ©IfF, f[FF troposphere AT ST NS T — YT FH|

c) What is the adiabatic process of temperature change?

IV ARFION A7 Fgor Al F 2

d) Explain in brief with diagram the formation of Gradient wind in Northern
Hemisphere?

f5a>1z B8 (ST Gradient 1Y fF O T =T TTHCN (74 2

e) Write down about the different types of fronts.

ST 47 FE @ S=F @41

f) Explain convectional instability.

ARIEANGTS ITNSHATT BT LT FT|

g) What is baroclinic condition of the atmosphere?

AINSTH baroclinic I F HFZS N T2

h) “Ferrel Cell is the thermally indirect cell in the tri-cellular system”- Explain.

G- (I VO (FET (FIF A6 (N ST (= LT BT



2. Answer any three questions from the following: 3x10=30
(TCHCAT FONT AT BB W18 |

a) Explain the Bergeron- Findeisen theory of precipitation.
Y CFAN ARG Bergeron- Findeisen oy 6 Imam |

b) Discuss about the different types of evidences in support to the past climate changes.

AT RSN TG-S G TN TE TS G AR 7 TANTF 2N
e FMEABAT FH|
c) Explain the scheme of climatic classification proposed by Koppen .

(PN AN GeTI (YN Twr91 6 543 7|

d) Explain the index cycle of Jet stream along with its role in minimizing the North-
South thermal variation.

(GG AN index cycle LT FF 92 O I O O@I-RA6 IR OINN@T
(YT 7 FACO SR F(F (€14

e) Discuss about the consequences of Green house effect and briefly suggest some
remedial methods to reduce the effect.

N TEH o[ 7 Hfodd P BT WG 9 498 G2 ASR FAMNAE
TN STHE ACATFATS F




